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Import java.util.Scanner; \
class web{

public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
inta, b, c,d, e;
a = sc.nextInt();

b = sc.nextInt();
c = sc.nextInt();
d = sc.nextInt();
e = sc.nextInt();
System.out.printin(d);
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import java.util.Scanner;
class web{
public static void main(String[] args) {

Scanner sc = new Scanner(System.in);
int al, a2, a3, a4, a5, a6, a7/, a8, a9, alo0;
intall, al2, al3, al4, al5, al6, al7/, al8, alo9, a20;
int a2l1, a22, a23, a24, a25, a26, a27, a28, a29, a30;
int a31, a32, a33, a34, a35, a36, a37, a38, a39, a40;
int a41, a42, a43, a44, a45, a46, ad7, a48, a49, a50;
int a51, a52, a53, a54, a55, a56, a57, a58, a59, a60;
int abl, a62, a63, ab4, a65, ab6, a6/, ab8, a69, a70;
inta71, a72,a73,a74, a75,a76,a77,a78,a79, a80;
int a81, a82, a83, a84, a85, a86, a87, a88, a89, a90;
int a91, a92, a93, a94, a95, a96, a97, a98, a99, al00;

} élgdice
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import java.util.Scanner;
class web{
public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
,,,,,, int nums|J; <I<'| 422
=3 nums = new int[100]; SleEL =
for (int i=0; i<100; i++) {
| numsJi] = sc.nextInt();
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int as1[];
long bs1[];
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asl = new int[3];
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int as2[];
as2 = new int[]{1, 2, 3};
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int as1[];

asl = new int[3];
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int as2[];

as2 = new int[]{1, 2, 3};
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int as2[] =

new int[]{1, 2, 3};
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asl

int as1[] = new int[5]; int int int int int

as?2

> int int int

int as2[] = new int[|{1, 2, 3};
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int as1[] = new int[5]; asl | int int int int int

as[0] as[1l] as[2] as[3] as[4]
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class web{

RO B 51 70 = i 5l = public static void main(String|[] args) {

e 0 %S - IRFM . .
fﬂ%?é 1 Rt aE s Ay int as1[] = new int[]{6, 2, 3};

= BEA—KIE !

System.out.printin(as1[0]); ]
System.out.println(as1[1]);
System.out.printin(as1[2]);
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class web{
public static void main(String[] args) {

F B 5 L8[ =B int as1[] = new int[}{6, 2, 3};

(E] - B AR , |

SRS - 7O int as2[] = new int[5];

D B AR B ks RO as;{(ﬂ -2

IGEXER as =1, » A=

51T 20l 1 i
as2[3] =12;
as2[4] =5; 2

System.out.printin(as2[0]);
System.out.printin(as2[2]);
System.out.printin(as2[3]);
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@ortjava.util.Scanner; ieE—EEEME - BIEEE
class web{ FEI B — ﬂx%%ﬂﬁﬁﬁT'

public static void main(String[] args)
Scanner sc = new Scanner(System.in);

B$§U """"" %’i intnums[j; : ‘ki B@gurz%z

nums = new int{100];
for (int i=0; i<100; i++) {
| numsJi] = sc.nextInt(): SENE
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Lrlr;i);):ziv{a.utll.Scanner, \ S @ IEE R - o O]

public static void main(String[] args) { i - . ——EHEERTE -
Scanner sc = new Scanner(System.in);

inti, num = 100;

int as[];

as = new int[100];

for (i = 0; i<num; i++) { _
as[i] = sc.nextInt(); MITEER

1

I = nhum-1;

while(i>=0) {
System.out.printf("as[%d]: %d\n", i, as[i]);
I--;

}
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class web{
public static void main(String[] args) {
int as[] = new int[]{3, 11, 5, 1, 2};

int size =|as.|en@i;

for (int i=0; i<size; i++) {

System.out.printin(as[i]);
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Array.copyOf(fE5IA, ST & EZIN)
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Array.copyOfRange(PE5IA, ZE5|{Ex, &E5/{Hy)
ERAXZAYIRB I BESTTR(AEZALY])E] S —1EE
import java.util.Arrays; %l -
class web{
public static void main(String[] args) { 1‘ |
int asl[] = new int[]{3,11,5,1, 2};
int as2[] 3 Arrays.copyOf(asl, asl.length-1);
int as3[] 3 Arrays.copyOfRange(as], 1, asl.length-2);

System.out.printin(Arrays.toString(as1));
System.out.printin(Arrays.toString(as2));
System.out.printin(Arrays.toString(as3));
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Import java.util.Arrays;
class web{
public static void main(String[] args) {
int asl[] = new int[]{3, 11, 5, 1, 2};
int as2[] = Arrays.copyOf(asl, asl.length-1);

int as3[] = Arrays.copyOfRange(asl, 1, asl.length-2);

System.out.printin(Arrays.toString(as1));
System.out.printin(Arrays.toString(as2));

A

HITHER
[3, 11, 5, 1, 2]

System.out.printin(Arrays.toString(as3));

[3, 11, 5, 1]

[11, 5]
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import java.util.Arrays;

class web{ Array.equals (FE5IA, PE51B)
public static void main(String[] args) { Fllah [BAA 6 fESIB A S —1% -
int as1[] = new int[}{3, 11, 5, 1, 2};
int as2[] = new int[}{3, 1, 5, 1, 2};

System.out.printf( Arrays.equals(asl, as2)|);
as2[1] = 11;
System.out.printf( Arrays.equals(asl, as2)|);

}
}

TR

is asl equals to as2: false
is as1l equals to as2: true
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m:)ort java.util.Arrays;
class web{ Array.fill (FE5IA, f&IK{EX)

public static void main(String[] args) { 1 FE3IA RIVEERESITTRAFRER X -
int asl[] = new int[]{1, 2, 3, 4, 5};

A
System.out.printin(Arrays.toString(as1));

Arrays.fill(asl1, 10);

System.out.println(Arrays.toString(as1));
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L s Array.sort (FE5IA,Z5|{Ex, &5|{HY)
sl T B 58 (5) AIZIALYI B BT 51 7025 (R 2 Aly])Ea
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mport java.util.Arrays; =B A

class web{ m A
public static void main(String[] args) {
int asl[] = new int[]{11, -2, -3, 24, 5, 2, -10};

System.out.printin(Arrays.toString(asl));
|Arrays.sort(as1, 0, 2); |
System.out.printin(Arrays.toString(asl));
| Arrays.sort(asi, 3, 5); | )
System.out.printin(Arrays.toString(as1)); TR
|Arrays.sort(asl); '

)
System.out.printin(Arrays.toString(asl));
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AN

import java.util.Arrays;
class web{
public static void main(String[] args) {
int as1[] = new int[]{11, -2, -3, 24, 5};

import java.util.Arrays;
class web({

public static void main(String[] args) {
int as1[] = new int[]{11, -2, -3, 24, 5};

for (int i=0; i<asl.length; i++) {
System.out.printf( , as1[i]);

for (inti:asl) {
System.out.printf(
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for (28l : [F5IA)
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import java.util.Arrays; FESPESANEBIZHIFTBITERE -
class web{

public static void main(String[] args) {
int asl[] = new int[]{11, -2, -3, 24, 5};

|for (inti:asl) {I

S
System.out.printin(i); HITHER




